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Part A

Section Id : 686340147
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340228
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 6863407380 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



OS] & TYT YRG St Sfae@ 9T T 14 RamR, 1949 5. & &7 Goumid 3 66 &1 YRa-da &
RTGTHTST ST Wi R feh gl 1| Wige= & ARLeH 31 fdfd 26 SHaRl, 19508, 211 e Ue ol safe 9
YRd B AU BT SR Ygd BRYU! aul g1 Heiloll & gRI T gl 351 U1 SHIU [hurd® =4 3 0
HTTRGD T 7T U1 o 15 a8 1 Hale aeb 3ufd 25 THadl, 1965 5. 0 Y RBR & T TRBRI
HIHBT o o0 3TsH BT YN gdad gial Tg7TT1 26 TG 1965 3 ¥ U 61 4% P U YT H (G
YR §) Siaug U TR 3. foFet Teers § Had &1 wiar ot

Sub questions

Question Number : 1 Question Id : 6863407381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SiauE & ar e &) Al g
1. 14 FoamR 1949
.25 OFaR 1950
3. 15 GFTaRI 1950
4. 26 OFIERI 1950

Options :

68634029201. 1
68634029202. 2
68634029203. 3
68634029204. 4

| )

Question Number : 2 Question Id : 6863407382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f&d} @1 JerHTe BT = @ R
1. 26 SIFART 1950
.14 FyamaR1949
3. 26 SIadl 1965

4. 15 31947

| ]

Options :

68634029205. 1
686340292006. 2
68634029207. 3
68634029208. 4

Question Number : 3 Question Id : 6863407383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

\3TaYTE &1 &l [dam FT g

4,350

Options :

68634029209. 1
68634029210. 2
68634029211. 3
68634029212. 4

Question Number : 4 Question Id : 6863407384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HRT &I ISTHY &1 B feat I ggd fog yma 8 giar o -

1.9g
2. T
3, 3
4. dfa

Options :

68634029213. 1

68634029214. 2

68634029215. 3
68634029216. 4

Question Number : 5 Question Id : 6863407385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

St &1 ToTUTST &7 o1l o1 & 915 WY 3ot &1 ST & o fasg= anlf & e sawgs 9o 7 -

1. 10

L¥N]
=
Lh



68634029217. 1
68634029218. 2
68634029219. 3
68634029220. 4

Question Id : 6863407380 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

HTOTE] & G HRE Bt Sou™ FHT H 14 FamR, 1940 5. F &7 gowmia 9 el &1 YRa-gg 3t
RTSTHTST ST Wi R fobar 1| Wfae= & AR gH 31 Al 26 e, 19508, 211 & o ol siafer 9
YR P AU &1 BT Ugd B! aUT 918 B3l & gRI 994 81 381 41 5ol [$urde 0 4 U8
g TH AT U fo 15 a6 ot afd a@ sufd 25 93, 1965 5. d% T4 WHR & gt TWHRL
HIHBIS B {77 3TsH BT YN Ydad gidl T67TT1 26 TG 1965 S ¥ U3 61 4% P U YT H (G801
YRd H) Tiaog U8 W3 34, foret Teers § Had & wiar o4t

Sub questions

Question Number : 1 Question Id : 6863407381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gy & ar g @ # g
1. 14 foamR 1949
25 GFaRt 1950
3. 15 GFTaRI 1950
4. 26 SHAR 1950

Options :

68634029201. 1
68634029202. 2
68634029203. 3
68634029204. 4

| ]

Question Number : 2 Question Id : 6863407382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&<t o1 ToTHIST & ®TH $d fear
1. 26 SFTER] 1950

14 TdmR1949

3. 26 GIadl 1965

| ]

4. 15 SIEA1947
Options :
68634029205. 1
68634029206. 2

68634029207. 3
68634029208. 4

Question Number : 3 Question Id : 6863407383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

\3TaYTE &1 &l [dam FT g

1. 3R

2. HAGGPH

3. SNl
4. 3590

Options :
68634029209. 1
68634029210. 2

68634029211. 3
68634029212. 4

Question Number : 4 Question Id : 6863407384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRd B A4S BT 1Y Tl 9 ugel fobg e & g ot -
1.3%
2. 95
3. 3l
4. dftra

Options :



68634029213. 1
68634029214. 2
68634029215. 3
68634029216. 4

Question Number : 5 Question Id : 6863407385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

St &1 ToTUTST &7 o1l o1 & 915 WY 3ot &1 ST & o fasg= anlf & e sawgs 9o 7 -

1. 10

2
-
| B

4. 15

Options :

68634029217. 1
68634029218. 2
68634029219. 3
68634029220. 4

Sub-Section Number : 2
Sub-Section Id : 686340229
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863407386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 3YAT AT BT 98 U oieh1 Tlem Gray a1y P 340 Yscl & 1Y Fid B, 98 PeI oI e -

1. PRP

[ ]

ey
LN GEI]
4, fopan

Options :

68634029221. 1
68634029222. 2
68634029223. 3
68634029224. 4

Question Number : 6 Question Id : 6863407386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T S1UaT T BT 98 U oo ST e g1ay & 3 Ysa] b 1Y §id o, 98 eI O § -

1. PRP

[ ]

ey
3. fa<mmor
4. fepan

Options :

68634029221. 1
68634029222. 2
68634029223. 3
68634029224. 4

Question Number : 7 Question Id : 6863407387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HH-DH Y e WY F IS -
A Y
B. Hld: &Il
C. SaQR
D. H8%
E. 39
1. PIAA.D.E
$HGAB. C.D
3.PdUA.C.E

4. FAAC. D. A

| B

Options :

68634029225. 1
68634029226. 2
68634029227. 3
68634029228. 4

Question Number : 7 Question Id : 6863407387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DD G Yeg TiE P IeE015 -
AW

B. UId:@Id

C. TR

D. He%

E. I0Y

1. PAdA.D.E
2. $ddB.C.D
3. PdAA.C.E

4. PAAC.D. A

Options :

68634029225. 1
68634029226. 2
68634029227. 3
68634029228. 4

Question Number : 8 Question Id : 6863407388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1 gl 11 ¥ e sifs
T 1 (GETR) I 10 (312
A (AR @ L [3ma 4 v ooy
B. [Ue Y& 11 [gF &3
C. |eredll 3rHe TR W L [Feigdl
D. [Fa1 &1 3 $dl V. [3rfea &1 4 o= g
Foferad fadedl @ I T8t SR &1 994 BT -

1. A-II. B-IV. C-III, D-I
2 AL B-IV. C-1 D-III
3. A-1 B-IT, C-III, D-IV
4. A-IV. B-1T1. C-1I1, D-1

Options :

68634029229. 1

68634029230. 2

68634029231. 3
68634029232. 4



Question Number : 8 Question Id : 6863407388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 19T gt 11 ¥ e ifog
T 1 (ETY) I 11 (31
A [ATER T 1 |sma g afie s
B. [t 1R 11 |8 &3
C. |orelt 3He TR W L [Feigdl
D. [Hl &1 3 Sl V. [efad &1 4 49 gy

Ffeiad fdeedl § I gl 3R &1 994 Bl :

1oA«IT, BV CUIE D
2. A-II, B-IV, C-I, D-III
3. A-I, B-IT, C-III, D-IV
4, A-IV, B-IIL C-I1 .. D-I

Options :

68634029229. 1

68634029230. 2

68634029231. 3
68634029232. 4

Question Number : 9 Question Id : 6863407389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 Y DD 9§ Tes 3PHS [HU1

A BIeAT
B. 89l
C.3MH
D. 3T

E. Hlg-

14 &g 1 fasbedl 3 1 Hel 9Tk &1 99 DIl .
1, ¥GAC. A D

. PAUE, C.A

3. HadB. C. A

4. PdUA.B.D

2

Options :
68634029233. 1



68634029234. 2
68634029235. 3
68634029236. 4

Question Number : 9 Question Id : 6863407389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 Y BHE-HH Y Ueg AFHS fhar g

A BT
B. B9
C. M
D. T

E. Hle"

Hid o T/ f[dbedl § O 9l 3R &1 99+ BT ;
1. $dAC, A, D

. $AUE,C. A

3. BddB. C, A

4, 9dUA.B, D

b2

Options :

68634029233, 1
68634029234, 2
68634029235. 3
68634029236. 4

Question Number : 10 Question Id : 6863407390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Dy

gl 1 o1 gt 11 9 fHaH Sy

T 1 (EPR) = 11 (TET)

A [yifaEmE 1 [HreR & ®RU U 9% & Gusl 9% 5 ol |

B [gH® 1L [ guil &1 Highd |

c. [srma 111 [0 Meq § U © Ao o oo ol

D. [zow 1V [eTsa] @1 318 U 3§ M11E® &R aUl 39 Y -3 8l
frafeiad fament & 9 Wl STk &1 98 DI -

1. A-TV. B-III. C-I1.D-1
2. A-IIL B-IV. C-III D-I
3. A-I. B-IV, C-II. D-III
4. A-l. B-II. C-III, C-IV

Options :

68634029237. 1
68634029238. 2
68634029239. 3
68634029240. 4

Question Number : 10 Question Id : 6863407390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dy

gl 1 1 gt 11 9 faH Sy

T 1 (EPR) = 11 (TEET)

A [yifqE= 1 [Gre% & ®RU U g% & Gusl d& 5 ol |

B [0H® 1L [ o7l &1 H1ghd |

AEE 11 [0 Meq § U © HAlo® o s ol

D [za 1V [grsa] @1 H1afe U O S1fdd aR U1 39 HY S-S Bl
frafaRad fasedl § 9 U8t 3R 1 994 Hifg -

1. A-IV. B-I1I. C-I1.D-1
2. A-L B-IV. C-III D-1
3. A-L B-IV. C-II. D-III
4, A-l. B-II. C-III. C-IV

Options :

68634029237. 1

68634029238. 2

68634029239. 3
68634029240. 4



Question Number : 11 Question Id : 6863407391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 70 FHUE 14:10=X: 15 A X PIAF T ¢ -

1.20

| B

]
3.19
4. 18
Options :
68634029241. 1
68634029242. 2

68634029243. 3
68634029244. 4

Question Number : 11 Question Id : 6863407391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&0 0 99U 14:10=X: 15 A X FTHF TG :

1. 20

|

21
3.19
4.18

Options :

68634029241. 1
68634029242. 2
68634029243. 3
68634029244 4

Question Number : 12 Question Id : 6863407392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 3R B @I Tl H 3:4 BT 30T 5 | A B Tiqod RIF W Uga- I B Y 20 572 AP T 31 A fba
T T o] WF W 9gadr ¢

—

.23‘a%
3

J

1%9’%
3

3.2%¢

411 g2
3

Options :

68634029245. 1
68634029246. 2
68634029247. 3
68634029248. 4

Question Number : 12 Question Id : 6863407392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 3 B B 1Tl  3:4 T 39 81 A P Tiaod ™I R Yga- 1 B ¥ 20 [FHT 34T T €1 A fvas
o ¥ Tiaed WH W 9gad g

1.2%‘a%
3

1.133%
3

3.24¢

41l g2
3

Options :

68634029245. 1
68634029246. 2
68634029247. 3
68634029248. 4

Question Number : 13 Question Id : 6863407393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



W%?@Tq? 59 AITHP a3 ¥ 2 Y T YR &U7S 3R Gehls oaTa § 223 1 3ok o | Faw &1 715 iy
T 87

1. 26.000

| B

38,400
3. 210,000
4.212.000

Options :

68634029249. 1
68634029250. 2
68634029251. 3
68634029252. 4

Question Number : 13 Question Id : 6863407393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W%WW 5% AT a3 9 2 Y H JUR0 &AT9 3R Gl oaTs H 225 &1 SR ¢ | FHaw &1 75 iy
T 87

1. 26.000

| B

38,400
3.210.000
4. %12,000

Options :

68634029249. 1
68634029250. 2
68634029251. 3
68634029252. 4

Question Number : 14 Question Id : 6863407394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UE Uoail- faehdl 3 218/ke I X T 100 ke THER TG 3R 2120 HTS TR T (90| 34 80 ke
THICY 225/kg 1 S H &< TUT 16 kg THICR 220/ke B X H &4 | Y 2T WG B4 & HRUI &4 8] &
b | 3BT A1H Yiderd 1 PISU | (GYHd & Udh = dP o)

| )
-
|
N
(=]
o

4.21.6%

Options :

68634029253. 1
68634029254. 2
68634029255. 3
68634029256. 4

Question Number : 14 Question Id : 6863407394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UE Uoail- faehdl 3 218/ke I X T 100 ke THER TG 3R 2120 HTS TR T (90| 34 80 ke
THICR 225/1 cgﬁﬂ?@éﬁﬂ’iﬂlﬁkgi’ﬂmi‘ﬂ ke 1 X T dd | Y THICI WRIE BIF & HRU & "8l o
% | 3TH] 1Y URARId F1d B0 (GIUAd P TS IF 9P Tel)

| )
-
|
N
(=]
o

4.21.6%

Options :

68634029253. 1
68634029254. 2
68634029255. 3
68634029256. 4

Question Number : 15 Question Id : 6863407395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U (G A HBR B & TS SR D AT TS5 | Ul TGS®! &1 IRAT 4.6 m ¢ TUT 589
HTIAHR U &) I9TE 0.5m B a1 Siefgaepr wm &t e 91a ﬁﬁﬂz(m”: 2?2]

del

1. 0.6m
2. 0.8m
3.1.4m

4, 0.7m

Options :

68634029257. 1
68634029258. 2
68634029259. 3
68634029260. 4

Question Number : 15 Question Id : 6863407395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U fESP! ST HBR DI & SHS SR TP H4JT TS ¢ | Ui TGSH! 31 IRAT 4.6 m & 701 70
TAAGR I &1 I9TE 0.5m T 41 SiEITAPR Y &1 e 91d aﬂﬁtt{|£Tuke,~r= 2?]

del

1. 0.6m

12

. 0.8m
3. 1.4m

4. 0.7m

Options :
68634029257. 1



68634029258. 2
68634029259. 3
68634029260. 4

Question Number : 16 Question Id : 6863407396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U WY T U Uy 3R & IR W 51
A fPY PR B § dafid g2
LCH UAIBEIBHRD.ES = 51 C DI UHHE T G 1 E I UHUET AT
IGH IO H P AYEH I BHI U HEIESRLPI UG AF T B S| EFTURAUET AT
1, TfE UY &1 IR & & 0. I1d oy 19 3o sidbsT 3epar gl 9 6|
2. I3 WY T IR & & [Aw: 1fe oy 11 8 faar st sidel 81 vaia &
3. 9% WY D1 9TR & & A0 gl Y= 18 [3a a1 oy 11 ¥ (31 717 e s a8 Taic g |
4. TS VY BT TR & & for0; T T 3iiep g 1 S H b e I1Y 9uie 781 €
Options :
68634029261. 1
68634029262. 2

68634029263. 3
68634029264. 4

Question Number : 16 Question Id : 6863407396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S WY T U Uy 3R & IR S 51

A fPY TR B § dafid g2

LCH TAIBEIBHRD.EF T 3| C DI UHHH Tl G T E B UFUET AT

IGH A H P HYEH I BHI U HEIER LTI UG AF I B S| ESTUAUHT AT
1, T UY T IR &1 & A0 1S oy 19 (32 stichsT sreban €1 9w 6|
2. 9% U 1 TR & & [0 afe &y n 3 faan aiidsT sidban gl vaiw 5|
3. A U TSR &4 & e, ofe wu= 1 & fRar ar s 1 | fear mmar siwsT sidhar ef vai< g
4. 93 Y% D1 GTR & & [T U MY 3w s <HI Bl T i U 91y yale el 2|

Options :
68634029261. 1



68634029262. 2
68634029263. 3
68634029264. 4

Question Number : 17 Question Id : 6863407397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 718 +fgen & 3ATe U Jd Sifi

1?2

{Eat

[

8.1

Ln

28

L

1. 90

| ]

201

. O

Laa

4,94

Options :

68634029265. 1
68634029266. 2
68634029267 3
68634029268. 4

Question Number : 17 Question Id : 6863407397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&I 718 oRgen & 3ATe U Jd Hif

| s

[t

L
Ln

9949

L

8.1
1. 90
2.901
3.903
4. 94
Options :
68634029265. 1
68634029266. 2

68634029267. 3
68634029268. 4

Question Number : 18 Question Id : 6863407398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U@ o Jd G @1 3R 4 PP WS 3. a6 Ual I (G201 H 45° W GSal ¢ | 96 AR Uo! &1 famn |
%ﬁ@gﬁ% IR R ISt &1 amrad ([qusia) fE=n &1 3fR270° Goa1 81 3@ a8 (54 fGen &1 &R 18
TS|

1. 3e-afEgm

SWR-ud
ety seiie
. féuigd

Options :

68634029269. 1
68634029270. 2
68634029271. 3
68634029272. 4

| )

[#%]

o

Question Number : 18 Question Id : 6863407398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS fdd g0 1320 @1 3iR 1 SR @l 0. a6 Ual B (G H 45° W gSdl ¢ | 98 SaRI Uol &1 fgun |
180° tl?ﬂ?;gﬂ%‘. 3R iz Ug! &1 ardrad ([qusia) fa=n &1 3fR270° godl 81 3@ dg ¥ feen &1 &Rk g8
CEGRCEIR

1. 3T-gigm

FW-gd
et seite
 féuigd

Options :

68634029269. 1
68634029270. 2
68634029271. 3
68634029272. 4

| ]

[#¥]

o

Question Number : 19 Question Id : 6863407399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 I (B, U 11U 2 o1 guiaar uie &dl 82

HYF : P.C.M TRIH & W@ U5 & o0 99+ 3=t § 41 90k Ue §e1idd SHedr B
Fsp: 1. 4T 9adR, P.C M HRIM & o= & 06 W 97 oy o |
I, 91 FaER P.C.M SR & e & ug o 9ol g7 S|
1. Pad 5Py [ 3SR PRl |
2. Fad Py 11 3TERUI Bl G |
3. ®ig 1t U s 1 91 11 3FERUI el G
4, I 6 1 97 11 SRR 76l S § |

Options :

68634029273. 1
68634029274. 2
68634029275. 3
68634029276. 4

Question Number : 19 Question Id : 6863407399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 I (B, U 11U 2 o1 guiaar uie &dl 82

HYF : P.C.M TRIH & W@ U5 & o0 99+ 3=t § 41 90k Ue §e1idd SHedr B
Fsp: 1. 4T 9adR, P.C M HRIM & o= & 06 W 97 oy o |
I, 91 FaER P.C.M SR & e & ug o 9ol g7 S|
1. Pad 5Py [ 3SR PRl |
2. Fad Py 11 3TERUI Bl G |
3. DIg Y1 US [Hpy 1 AT 11 SFERU SRl & |
4. 13 o Feepy 1 27 11 3TERY R BRI § |

Options :

68634029273. 1
68634029274. 2
68634029275. 3
68634029276. 4



Question Number : 20 Question Id : 6863407400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1.2).3) 3R (4) T 1 71 FeRaplod! § F o 0 SR oo, 9 3 €1 71 snefd » &1 fd et )

EERIEaD] SR AP

” = X ® X X x X X
* A i ® oo X
oK XK
w u ® 4 * * WO X w o ® W
" 7
: (1 (2) (3) (4)
1.1
22
3.3
4.4
Options :

68634029277. 1
68634029278. 2
68634029279. 3
68634029280. 4

Question Number : 20 Question Id : 6863407400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1).(2).(3) 3R (4) B € 718 IwRempfadl # ¥ #1110 Sw sapfa, 9w 3 4 g snefa » 391 gfd et g

Y ST T G

5 b *
” = X ® X X x X X
* A i ® oo X
MoK K
w i x x £ x ¥ oM X A .
2 2
: (1) (2) (3) (4)
1.1
2.2
53
4.4
Options :

68634029277. 1
68634029278. 2
68634029279. 3
68634029280. 4

Question Number : 21 Question Id : 6863407401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g @1 TRgHA diar Yi HEAAIE |
1. BT

| )

SO HSd
3. gAY Had
4. B HSA

Options :

68634029281. 1
68634029282. 2
68634029283. 3
68634029284. 4

Question Number : 21 Question Id : 6863407401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 1 TRaEE diar 4 HEANG |
1, BT

g9 HEd

[ ]

3. gAY Had
4 UPpE H3d

Options :

68634029281. 1
68634029282. 2
68634029283. 3
68634029284. 4

Question Number : 22 Question Id : 6863407402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 1 1 gl 1 ¥ e Sifo
‘ﬁ':ﬁlwé‘ltrrm:r =0 11 3

e v egE | L fERE

RIPE3TH | I [BAles®
EERREEEEE P ERHGE
. [ETEQR TP S| V. A vew

fFrafefad faweal & 9 el SR @1 997 P -

1. A-IIL. B-1. C-II. D-IV

ol Bl o= b

| B

AL B-LL C-IV. D-T1
3. A-III, B-IV. B-1, D-IT
4. A-IV. B-1L. C-1. D-IV

Options :

68634029285. 1
68634029286. 2
68634029287. 3
68634029288. 4

Question Number : 22 Question Id : 6863407402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 61 gl 11 ¥ ffeH sife

T 1 AP SUTH T 11 35T
_[pree ¥ 3gE | 1 feRE
MRIPEIaE | I [Fics
Ay AP IgE| 1L [3TRrES
_[Erdiaz wEiE SeE| v, [FeE e

Fafeiad fdeeal 3 1 98! 3ux &1 99 Sl -

1. A-TIL. B-1. C-II. D-IV

ol Bl ==} =2

| B

CA-TIL B-LL C-IV. D-TI
3. A-IILL B-IV. B-1. D-II
4, A-IV. B-II. C-1. D-IV

Options :

68634029285. 1

68634029286. 2

68634029287. 3
68634029288. 4

Question Number : 23 Question Id : 6863407403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[T 3fT=sa & Siia 9 ! Tfaum T Yo &1 Qied e 3175 82
1 Giﬂ%a 226

! |
ke
=1
oy

Options :

68634029289. 1
68634029290. 2
68634029291. 3
68634029292. 4

Question Number : 23 Question Id : 6863407403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[¥ Sig=sq & il Tug o HiauH § GxeH &1 Widd UaH &1 75 52
1, 3=94 226

! o
[ )
|
iy

Options :

68634029289. 1
68634029290. 2
68634029291. 3
68634029292. 4

Question Number : 24 Question Id : 6863407404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B AIERCRI R
HY ; U1 & argeT H HHT 317 R YT D1 URIY ¢ ol g

FYA 11 : S=ETED] & araEE 8 9iE €1 9 & RO 3961 UicRlY SH 8l §idl 8|
1. HYF1 AR 11 I TG 7
2. BYA I 3R 11 GHI 7Ted &
3. BY 1 HEI 8. Wl HUT 11 70d &
4. Y 17T 5. b DY 1 HEl &

Options :

68634029293. 1
68634029294. 2
68634029295. 3
68634029296. 4

Question Number : 24 Question Id : 6863407404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B AIERCARR o
HY ; U1 & argeT H HHT 317 R YT D1 URIY ¢ ol g

FYA 11 : S=ETED] & araEE 8 9iE €1 9 & RO 3961 UicRlY SH 8l §idl 8|
1. HYF1 AR 11 I TG 7

YA 1 3R 11 G e &

3. BY 1 HEI 8. Wl HUT 11 70d &

4. Y 17T 5. b DY 1 HEl &

2

Options :

68634029293. 1
68634029294. 2
68634029295. 3
68634029296. 4

Question Number : 25 Question Id : 6863407405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
$I-g g e i & fRa g
1 ﬂlﬂ Eﬁ?
3. PIAET
4. AGNTE]

[ ]

Options :

68634029297. 1
68634029298. 2
68634029299. 3
68634029300. 4

Question Number : 25 Question Id : 6863407405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B g =i i § [ g2
1. YR

. STHRRYT

3. PIella

4, ETTGT

| ]

Options :

68634029297. 1
68634029298. 2
68634029299. 3
68634029300. 4

Part B: B Ed Languages

Section Id : 686340148
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340230
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863407406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafared foog ot 1 I8! fadm wse 781§ -
1. 3nfguid - foRivmg
foma - gma

[ ]

3. MR - 91
4. 9P - 3%

Options :

68634029301. 1
68634029302. 2
68634029303. 3



68634029304. 4

Question Number : 26 Question Id : 6863407406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafaa fow o o 98! foam v 781 6 -
1. effaufa - faRiurg
famma - grma

3. AT - |l

[ ]

4, [0 - A%

Options :

68634029301. 1
68634029302. 2
68634029303. 3
68634029304. 4

Question Number : 27 Question Id : 6863407407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o a1 & fPm & IRy W S g T8, SU TEd & -

1. 3TH Yd

3ot o

3. R

4,901 Y@

Options :

68634029305. 1
686340293006. 2
68634029307. 3
68634029308. 4

[ ]

Question Number : 27 Question Id : 6863407407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o a1 & fPm & IRy W S g T8, SU TEd & -

1. 3TH Yd

3ot o

3. R

4. 70 8

Options :

68634029305. 1
68634029306. 2
68634029307. 3
68634029308. 4

[ ]

Question Number : 28 Question Id : 6863407408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

“3ffeft e IR Ul SR s Ay o iR ST Y

1. G=TEYS 3oy
2. aHalD g

3. Tehafa=ro

4. fowTiealy® o0y

Options :

68634029309. 1
68634029310. 2
68634029311. 3
68634029312. 4

Question Number : 28 Question Id : 6863407408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

“3ifeft ame IR U RO A o e T Y

1. Y=0EYS 3oy
2. HEYEI® oy
3. fepanfagior

i

[amgiieaiys sy



Options :

68634029309. 1
68634029310. 2
68634029311. 3
68634029312. 4

Question Number : 29 Question Id : 6863407409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I B el T T -

4.3q + W

Options :

68634029313. 1
68634029314. 2
68634029315. 3
68634029316. 4

Question Number : 29 Question Id : 6863407409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR B el T E -

Options :

68634029313. 1
68634029314. 2
68634029315. 3
68634029316. 4

Question Number : 30 Question Id : 6863407410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SIS SHRIRU D A SHIEH! F U YD YD §5 8. 76 4 98 30 &l Figw-araedid FHH
" - 59 919 & foiu g1 dieifad gHu|

1. 919 §hIg FdR ol

[ B

A A §H 3{TE ¢l
3. HYSTd TRI Fadd U
BHeR f9a@F & gid di- grd

fes

Options :

68634029317. 1
68634029318. 2
68634029319. 3
68634029320. 4

Question Number : 30 Question Id : 6863407410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS SHRIRU D A SHIEH! F U YD YD §5 8. 78 4 98 30 &l Figw-araedid FHH
TS - 58 a1 & foiU Hel dllidd IHT|

1. 919 81 Gd< o

2. 919 = W SHTE <al
3. YUSTd TWRI Hadd od
4. BFER faveM & &id 919+ d1d

Options :

68634029317. 1
68634029318. 2
68634029319. 3
68634029320. 4

Question Number : 31 Question Id : 6863407411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bl ol 6. feel & SR 8. FF s o T RSl F SRS AR 91d & -
A HeER vaie fgadt
B. HRdg BR¥%
C. AIRTHHIET 1
D. dlciHPa T
E. Sfprag geol
i< fau 7Y fas el o 9 e U ST &1 99 PIIT:

1. PAUC. E.A
2. PAAA.B.C
3. HdAA.B.D
4. %dd C,D.E

Options :

68634029321. 1
68634029322, 2
68634029323, 3
68634029324. 4

Question Number : 31 Question Id : 6863407411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bl ol 6. feel &SGR 6. BF 3Fe- o1 Te | Bl F SRS AR 9Id © -
A. HEOR yTE fgad
B. YRdg gRgn
c.mm@strw
D. dlciPa Tt
E. Sfpaag geolf
4= iR fdwedl o 8 998 Suge ST &1 99 ST

1. ®PAdaC. B. A
2. FAad A B.C
3. PAAA.B.D
4. %ad C.D.E

Options :

68634029321. 1
68634029322. 2
68634029323. 3



68634029324. 4

Question Number : 32 Question Id : 6863407412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafaied 3§ 4 sfead] 11g 9N &1 30 ¢ -
A, A
B. Widiga
C. GYHTT

D. 44
E. 9+

4= R T fdwedl o 8 998 Sugad ST &1 95 ST
1, HdAA, C.E
2. %ad B.D.E
3. %ddD, C.B
4, 9qUB, A E

Options :

68634029325. 1
68634029326. 2
68634029327.3
68634029328. 4

Question Number : 32 Question Id : 6863407412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fraffad I 9 sieadl yia SO &1 38R0 & -
A SETdid
B. Widfed
C. GayHTT

D. 441
E. W+

4= R T fdwedl o 8 998 Sugad ST &1 95 ST
1.Pdd A, C.E

. $qUB.D,E

3. HadD, C.B

4. PduB.A.E

2

Options :

68634029325. 1
68634029326. 2
68634029327. 3
68634029328. 4

Question Number : 33 Question Id : 6863407413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafed I 9 g o & -
1, T 7T @) ERd PR Lel gl
BHR ST F-1 &1 faarg §1F W ReT B
3. T 31Ul 91d 1 WYIHR0 B3 & U daR B
4, 3 G au] d YR & 7ot A wrefar ot afsat vt &

| ]

Options :

68634029329. 1
68634029330. 2
68634029331. 3
68634029332. 4

Question Number : 33 Question Id : 6863407413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafed I 9 g o & -
1, T 7T @) ERd PR Lel gl
BHR ST F-1 &1 faaTg §1F S ReT B
T 391 10 T BB B & a8 IR §
4, 3 G au] d YR & 7ot A wrefar ot afsat vt &

| )

[#¥]

Options :

68634029329. 1
68634029330. 2
68634029331.3
68634029332. 4

Question Number : 34 Question Id : 6863407414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
forr anf 2 ot wreg gofgarh =i &
1. Wuf, Hep, fevog
4, Y1, 91, arfie

| ]

[#¥]

Options :

68634029333. 1
68634029334. 2
68634029335. 3
68634029336. 4

Question Number : 34 Question Id : 6863407414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
forr anf 7wt wreg gufgarh =t &

1. %qu], 1, fERvyg

4. Yl 91, anfi

| )

[¥¥]



Options :

68634029333. 1
68634029334. 2
68634029335. 3
68634029336. 4

Question Number : 35 Question Id : 6863407415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fraferad Sre-dfaddl o P19-91 Se®R Wad 53 87

U TR < B1Y T IBT. PRl ARE?
394 el 'R B 8 38 TUL YW E

1. Ghifad

I

AT
XY

4, ACTIAE

Options :

68634029337. 1
68634029338. 2
68634029339. 3
68634029340. 4

Laa

Question Number : 35 Question Id : 6863407415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeiad Sroa-ufdadl & 19-971 bR Ugad 5311 62

U B 4 BT H IHT. Tl 3R 52
399 el AR HIM T8 IS L IR/ E

1. ghifad

2

JUHT
Gk

4, AT

Options :

68634029337. 1
68634029338. 2
68634029339. 3
68634029340. 4

L]



Question Number : 36 Question Id : 6863407416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEFS g™ TETar &1 3 § -
1. SIR-TR F HAUT T

2. W Y § YATE &3]

3. st & Hiel Bt Jart &

4, F19d 3R ad B {HeH? g1

Options :

68634029341. 1
68634029342. 2
68634029343.3
68634029344. 4

Question Number : 36 Question Id : 6863407416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEES! YT GgTax &7 31 § -

1. SIR-ZIR I HA0] &A1
2. [ &Y 9§ FATg Al
3. (St & Ui &t o &

4, 199 3R 1A &1 TR GHTI

Options :

68634029341. 1
68634029342. 2
68634029343. 3
68634029344. 4

Question Number : 37 Question Id : 6863407417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



14 2 Y= AT M B, U sifiieys & =9 T fofEd © ol g% 99 BRI & &0 1,
ST Y: Bt v SarR faft & fordt Sl 3
FRT: SiqurF Wigd it YRdhg yrsi & 0 SarR1 8l snfteiies fafi g1
SWRIFd DU P el H, 1= f3u 7 fasedt § 3 98t W &1 99 Dife.

1. A 3R R &HI 9A §. 3R R. A P! U8l U@ &
ARRAFAITAE SRR AT Tel IR Tl &
AFAE. AP R T

4 AATIE, AGIRTT S

| ]

LFN]

Options :

68634029345. 1
68634029346. 2
68634029347. 3
68634029348. 4

Question Number : 37 Question Id : 6863407417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
#9 & Fu= R e B uw aiftreys & w0 ¥ fafed § 9 o S8 sRu 6 &0
Sifey: feal v Sarl faft o fergd St 21
SROT: Hlaur wigd g YR 1S & e da=rRl 8t e [ g
SIRIdd DY & 3Telid H, A U 7 fadedl & T 9ol 0% &1 997 S ifoe,
1. A IR R EHI A §. 3R R. A D! F6! R &
ASRRIFATTE, 3R R A DI T8I RS i &

3.ATAE. AfPTR 3T E

[ )

4 AT, ABIR IS

Options :

68634029345. 1
68634029346. 2
68634029347. 3
68634029348. 4

Question Number : 38 Question Id : 6863407418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g B e I TEI TS § -
A Fgw
B. Scdl
C. 3=qd
D. WhAR
E. 3ferii®
i< fau 7Y fas el o 9 e Sugs ST &1 99 ST
1. $ddB.C.D
Had D.E. A
3.%adB.C.E

4. BAAE.A. B

-2

Options :

68634029349. 1
68634029350. 2
68634029351. 3
68634029352. 4

Question Number : 38 Question Id : 6863407418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

g B e I LI TS © -
A Fgy
B. SOl
C. 3=qd
D. WA’
E. e
4= R T fdwedl o 8 998 Sugad ST &1 95 ST
1. HddB.C.D
$ad D.E. A
3. %ddB.C.E

4 PAAE. A B

2

Options :

68634029349. 1
68634029350. 2
68634029351. 3



68634029352. 4

Question Number : 39 Question Id : 6863407419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A d9 Jd

B, ?%ﬂ:mﬁﬂﬁau

C. HI HIgE I
D. O 7 Har

E. [e7 gt
193U ¢ faeedi 1 8 9ad SUge SR &1 95 ST,

1.B.B.CEA

()

B EDLAB

%]

A BELB OB
4.B.E.A.D.C

Options :

68634029353. 1
68634029354. 2
68634029355. 3
68634029356. 4

Question Number : 39 Question Id : 6863407419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A d9 Jd

B, ?%ﬂ:mﬁﬂﬁau

C. HI HIgE I
D. O 7 Har

E. [e7 gt
193U ¢ faeedi 1 8 9ad SUge SR &1 95 ST,

1.B.B.CEA

()

B EDLAB
3 A BB CE
4. B.E.A.D.C

Options :

68634029353. 1

68634029354. 2
68634029355. 3



68634029356. 4

Question Number : 40 Question Id : 6863407420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ABIR BT HY & -
1. W% § Hes
2. Wi | difercraifehd
3. 9B AR
4. 9l A SR fq2n d Ryd
Options :

68634029357. 1
68634029358. 2
68634029359. 3
68634029360. 4

Question Number : 40 Question Id : 6863407420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DRI BT Y 3 -
1. 9l ¥ Hag
2. T | AT d
3. Wl AW
4. T 9 SR femn o fRya

Options :

68634029357. 1
68634029358. 2
68634029359. 3
68634029360. 4

Question Number : 41 Question Id : 6863407421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FaffEd g 3 s g e -
1, 3T - STafd®
3. QPR - TRl

4. AT - TDID

[ ]

Options :

68634029361. 1
68634029362. 2
68634029363. 3
68634029364. 4

Question Number : 41 Question Id : 6863407421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FaftEad g S S gH e -
1. T - MATHD

3. IhR - Ieh iRl

4. AT - dpIfadH

[ ]

Options :

68634029361. 1
68634029362. 2
68634029363. 3
68634029364. 4

Question Number : 42 Question Id : 6863407422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 61 gl 11 ¥ ffeH sife

el 1 T I
. [ 9 R TaTe I Re™
HIE] 8T 71X I [4edg glids

WGl F ded, 54 U] L [HiEs
[P 330 o V. [FeRa™

Fafeiad fdeeal 3 1 98! 3ux &1 99 Sl -

1. A-TV. B-II. C-1. D-III

ol Bl ==} =2

2. AL B-IV. C-1. D-II
3. A-III. B-I. C-II. D-IV
4. A-I1. B-III. C-1. D-IV

Options :

68634029365. 1
68634029366. 2
68634029367. 3
68634029368. 4

Question Number : 42 Question Id : 6863407422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1 gl 11 © e sifo
a1 T I
A, [H Tt TR ToTa I fEE
B. Y& g1 91X I [4Rdg EREE
C. |9yl g9 ded. g9 UM 1L [HRETS
D. [FeHTE 37id 3 IV. |[FaRa™

frofafad faeeal & ¥ 9ot Sor &1 944 DIl -

1. A-IV, B-IL C-1. D-III
2. A-IIL B-IV. C-1, D-II
3. A-III. B-L, C-II. D-IV
4. A-I1, B-II1, C-I. D-IV

Options :

68634029365. 1

68634029366. 2

68634029367. 3
68634029368. 4



Question Number : 43 Question Id : 6863407423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 & FuF R U B uw aiftreys & w0 e § O o S9 sRU B 0
fire: auf 39 49 @i &l @ga ©. s gs gl ad |
HRUT: TR 3 avll &1 H5d 6. [o-] =R Faadl 4 6idl o 3R @ ol & 3R H YeTd® gid o
SIRIdd B & 3ATele H, At U 7 fasedl & I Hel 303 & 997 DI,
1. A IR R &I 9 8. SR R, A ] We| AT &
ARRIFAITAE SRR AT Gel AN T8l &

ATAR UPTR IETE

| )

Lad

4 ANTIS. AP R I
Options :
68634029369. 1
68634029370. 2

68634029371. 3
68634029372. 4

Question Number : 43 Question Id : 6863407423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 & Fy= R e §. uw aiftreys & w0 a8 O o S9S sRU B U A,
fire: auf 39 g9 @i &l wga 8. o ad gs 8 a9 |
PRT: TR 37 qUll &1 BEd 6. [o-1e] SR Waadl 9 6Idl & 3R @ -l & =R T Y8g® gid 6l
SURIGd HUF & 3Tdi H, A AU ¢ fasedi & 3 98t ST & 997 B
1. AR REHI 9 €. SR R. A S el e &
ASRRIFAITUE, SRR A DI T8I RS T8l &

3 ATAE. AfPIR 3T E

| )

4 AT, ABIR IS

Options :

68634029369. 1
68634029370. 2
68634029371. 3
68634029372. 4



Question Number : 44 Question Id : 6863407424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 1 1 gl 1 ¥ e Sifo
T I LR
A. [Fdye 1 [ard sy
B. [Barag 1. [gfs w3ty
C. [gca 111 [ giY
D. |3EdR IV, [fogel iy
Fafaiad 9ol ¥ 1 981 It &1 994 Sifuig -

1. A-IV. B-L. C-I1. D-IIT
2. A-I. B-TV. C-II1. D-II
3. A-II1. B-I1., C-I. D-IV
4. A-IT. B-III, C-IV. D-I

Options :

68634029373. 1

68634029374. 2

68634029375. 3
68634029376. 4

Question Number : 44 Question Id : 6863407424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 1 1 gl 1 ¥ e Sifo

T I LR
Fepne L [aId T

A
B. [Rrarag 1. [gis &=

C. [gca il SIEER ]

D. |3E®ER IV, [fogel iy

Fefered fadedl @ ¥ 9El Gk &1 994 Do -

1. A-IV. B-I. C-II. D-III
2. A-L. B-IV. C-II1, D-IT
3. A-III, B-I1, C-1, D-IV
4. A-11. B-III. C-IV. D-1

Options :
68634029373. 1



68634029374. 2
68634029375. 3
68634029376. 4

Question Number : 45 Question Id : 6863407425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 g1 Py Ry MU E:
BT I: Va5 & (o oTIR § T3 SR @eg 3o § fird 212 &1 weifl g1 58 Ao ed g
HY I1: TG DI HefY ac] Tsg Y81 6
SWRIFd P P el H, 1= f3u 70 fadedi § 3 w8l 3ok &1 994 S
1. BYF I AR H I §
HYT1 AR ] 3

FYTI T e, AT PYT I 3T

[ )

LFN]

4 BYTI T . WP T PUT I T B
Options :
68634029377. 1
68634029378. 2

68634029379. 3
68634029380. 4

Question Number : 45 Question Id : 6863407425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 g1 Py Ry MU E:
BT I: Va5 & (o oTIR § T3 SR @eg 3o § fird 212 &1 weifl g1 58 Ao ed g
HY I1: TG DI HefY ac] Tsg Y81 6
SWRIFd P P el H, 1= f3u 70 fadedi § 3 w8l 3ok &1 994 S
1. BYF I AR H I §
HYT1 AR ] 3

PYT T B, AT PUTII 3T ©

[ )

LFN]

4 PYTI TS, AT FU I T

Options :
68634029377. 1



68634029378. 2
68634029379. 3
68634029380. 4

Question Number : 46 Question Id : 6863407426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EIERA A AR I f
Y 1. o faerrl vz § 431 o1 confi maifea 21l 8. 39 fagivm aed B

w4 11: o= & R forg 93 &t aofa maifed Bidt 8. 98 fadra e B
IWRIed BYA & Had 5. 19 G e fowel ©§ € el 3T @1 999 BiTeg-

1. PYTI AR I ST I &
2. FYTI AR ST 3T S
3. PUT I Td . Al YT I 3T §

A PYTI G . AfpT FYT I TG &

Options :

68634029381. 1
68634029382. 2
68634029383. 3
68634029384. 4

Question Number : 46 Question Id : 6863407426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i gl Py fGu U §:

w1 forg [T RT Weg I w371 &1 oarfta Taifad gl 6. 39 [auvu $5d &
w11 FIRIV0T & g1 o7 T3 &1 eorfa affed gl 8. 9l faRs Ped B |
TG BYF b ATciie H, Hd 15T T faptl § ¥ Tg1 ok &1 95 Bifet:

1. YT 1 3R 1 39 9 &
FYTI AR EH] 3T B

[ ]

3. PUT I I 8. AftpT PUT 11 3T B

A PYTITI . AT sy Ia
Options :
68634029381. 1
68634029382. 2

68634029383. 3
68634029384. 4

Question Number : 47 Question Id : 6863407427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R e Ru Mg E:
HYE I: Yules g gy faosht off oa-ufet &1 daiie qdur giar 8|
HYA I1: 3151 SISRAIE & UG Y UABINA BT ddie Hed SHaR g3 8
JRIFT HYA & 3P |, 4 S0 U [dhedi § I Ugl 3R &l 994 B 1191
1. YT AR I GH 9T &
HY 1 AR 11 ST S

YT I AT, AP PYT I A ©

[ )

[FN]

4 PYTI A . AT PYT I TT ©

Options :

68634029385. 1
68634029386. 2
68634029387. 3
68634029388. 4



Question Number : 47 Question Id : 6863407427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 g1 Py Gy MU E:
HUE 1: GuEs 4 gy fosh off 0-ufieT &1 aaiie guu giar g |
HYF II: S5 STRAIE P UG I TADIRA] P 3RS Hed HHR g3l ¢
SWRIFd P P el H, 1= f3u 70 fadsedi § 3 98l 3wk &1 994 S
1. BYF I AR H I §
HYTI AR BT 3

PYT T B, AT PUT I 3T ©

[ )

LFN]

A PYTI AT C. AP SUT I T &

Options :

68634029385. 1
68634029386. 2
68634029387. 3
68634029388. 4

Question Number : 48 Question Id : 6863407428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frifea TR & Tde $1 1 oalid S
A. 39 € a8 gy & [T 9 oFad Xl ¢
B. FO®R a5 ol & UIdl § _
c. FeyaR oila- & aic-sic g digar g

D. 3R 39% 09 & 39! & ufafpar gt &
E. Siigd & fedi o= |

1= {u U fdeedl & 8 9ad Suge ST &1 951 T

1.A,B.DCE

2.C.E.B,D. A

3. EECAD.B

4 C.B.E.AD
Options :
68634029389. 1

68634029390. 2
68634029391. 3



68634029392. 4

Question Number : 48 Question Id : 6863407428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
it e @ |rde H H safiyd S
A. 39 8 a8 ey & A1eH ¥ odd Pl ¢
B. i@ a8 ol e Uldl §
. Fey®sR sitad & Bic-sic [F digd g

D. 3R 3% 09 & U & ufafpar gidi &
E. Siigd & fedi s |

A1 [3U TTU faeedl o § 9aY SUgH STk H1 95 HIIT;

1.LABD CE

e B0, A
3 EECADB
4. C.B.E.A.D

Options :

68634029389. 1
68634029390. 2
68634029391. 3
68634029392. 4

Question Number : 49 Question Id : 6863407429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafdiRad oy &1 el 0 § gafd $IT:

A, TR TE (U 8] gl Gepall

B. §Sd @ aIUN gl &l Idbal

C. 98 A& ®1 9% &l Il o

D. IUH §HR 3 %1 &4 751 &l §ebdll
E. faesft v divdt o wodt @

1= 3 U fashedl & @ 9ad SUged SR &1 95 T

1.A.B.D.C.E

| S

EAC B, D

3. CCALB.E. D

4 EDBAC



Options :

68634029393. 1
68634029394. 2
68634029395. 3
68634029396. 4

Question Number : 49 Question Id : 6863407429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafiEad Tu= &1 9sl 9 5 uaiud DI

A. TR @8 301 g1 81 9ol

B. gad @ aUi 9l &1 gabat

C. 98 ORIsh $1 9% &1 Il o

D. 3% THR o¥ &1 &6 6] o] 9@l
E. fooeht ymm dEt St asdi §

1= f3u U fasbedl & 8 9ad SUged SR &1 95 T

1.A.B.D.C.E

2B A E.B,D
3. CABED
4. E.D.B.A.C

Options :

68634029393. 1
68634029394 2
68634029395. 3
68634029396. 4

Question Number : 50 Question Id : 6863407430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i1 2 By T B, U siflieys & = T fofed 8 ol gUv1 S8 BRUI S EU T,

HfUSHY: THie! U Ul gul ety 3591 3, fSad gra-siias & &l us uef. us IRk, us a5
3R U Hia Pt Afiyenfad gidi 81

HROT: U Y&, U YT, U [d9R Higd giH & SRU 6l Uhid] § duTaw] &1 [0%dR gidl Srdl g, aedl
el el
TR DY & 3ATeile H, A fau 7 fasedl # I Hel 3R &1 9= S,

1. A SRR IFI T E. SR R AT Tl AR §

2 AMRREFAITUR. IRR AT Tl AR 7ol &

3 A9 afpTR 3T

4 AT, AFIR IS
Options :
68634029397. 1
68634029398. 2

68634029399. 3
68634029400. 4

Question Number : 50 Question Id : 6863407430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i1 2 By T B, U siflieys & = T fofed 8 ol gUv1 S8 BRUI S EU T,

HfUSHY: THie! U Ul gul ety 3591 3, fSad gra-siias & &l us uef. us IRk, us a5
3R U Hia Pt Afiyenfad gidi 81

HROT: U Y&, U YT, U [d9R Higd giH & SRU 6l Uhid] § duTaw] &1 [0%dR gidl Srdl g, aedl
el el
TR DY & 3ATeile H, A fau 7 fasedl # I Hel 3R &1 9= S,

1. A SRR IFI T E. SR R AT Tl AR §

2 AMRREFAITUR. IRR AT Tl AR 7ol &

3 A9 afpTR 3T

4 AT, AFIR IS

Options :

68634029397 1
68634029398. 2
68634029399. 3
68634029400. 4



Sub-Section Number : 2

Sub-Section Id : 686340231
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 6863407431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct options from the choices below to fill in the blank.

The temperature in the western part of India sometimes reach 45°C in June.

1. May

2=

. Can
3. Might
4. Should

Options :

68634029401. 1
68634029402. 2
68634029403. 3
68634029404. 4

Question Number : 51 Question Id : 6863407431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct options from the choices below to fill i the blank.

The temperature in the western part of India sometimes reach 45°C in June.

1. May

[

. Can
3. Might
4, Should

Options :

68634029401. 1
68634029402. 2
68634029403. 3
68634029404. 4

Question Number : 52 Question Id : 6863407432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following options can replace the underlined part in the sentence below:

1 slept without disturbance in my room.

1. I had slept

[ o=

.1 have had sleep
3.1had a sleep
4.1 have been slept

Options :

68634029405. 1
68634029406. 2
68634029407. 3
68634029408. 4

Question Number : 52 Question Id : 6863407432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following options can replace the underlined part in the sentence below:
1 slept without disturbance in my room.

1. I had slept

-

2. T have had sleep
3.1 had a sleep
4.1 have been slept

Options :

68634029405. 1
68634029406. 2
68634029407. 3
68634029408. 4

Question Number : 53 Question Id : 6863407433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct passive voice sentence for active voice sentence below:
Someone introduced me to Mr. Krishna two years back

1. I was mtroduced to Mr., Krishna by someone last year

[ o=

. Mr. Krighna was introduced to me by someone last year
3. I was being introduced to Mr. Krishna last year
4. I was mtroduced to Mr. Krishna last year

Options :

68634029409. 1
68634029410. 2
68634029411. 3
68634029412. 4

Question Number : 53 Question Id : 6863407433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct passive voice sentence for active voice sentence below:
Someone introduced me to My, Krishna two years back
1. I was introduced to Mr. Krishna by someone last year
2. Mr. Krishna was introduced to me by someone last year
3. I was being introduced to Mr. Krizhna last year
4. I was mtroduced to Mr. Krishna last year
Options :
68634029409. 1
68634029410. 2

68634029411. 3
68634029412. 4

Question Number : 54 Question Id : 6863407434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct option to fill in the blank.
teachers need to be more productive.
1. The
2. Zero article
3.A
4. An

Options :

68634029413. 1
68634029414. 2
68634029415. 3
68634029416. 4

Question Number : 54 Question Id : 6863407434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct option to fill in the blank.
teachers need to be more productive.

1. The
2. Zero article
3.A
4. An

Options :

68634029413. 1

68634029414. 2

68634029415. 3
68634029416. 4

Question Number : 55 Question Id : 6863407435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct replacement of the underlined words below:
The snow which fell overnight has turned into ice.

1. Fell

2. Falling

3. had fell

4. which continued falling

Options :

68634029417. 1
68634029418. 2
68634029419. 3
68634029420. 4

Question Number : 55 Question Id : 6863407435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the correct replacement of the underlined words below:
The snow which fell overnight has turned into ice.
1. Fell
2. Falling
3. had fell
4. which continued falling

Options :

68634029417. 1
68634029418. 2
68634029419. 3
68634029420. 4

Question Number : 56 Question Id : 6863407436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct option from the underlined word i the sentence below:

Only five students turned up.

1. Adjective

[ o=

. Adwverb
3. Noun
4. Participle
Options :
68634029421. 1
68634029422. 2

68634029423. 3
68634029424. 4

Question Number : 56 Question Id : 6863407436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct option from the underlined word i the sentence below:

Only five students turned up.

1. Adjective

| )

. Adverb
3. Noun
4. Participle

Options :

68634029421. 1
68634029422. 2
68634029423. 3
68634029424 4

Question Number : 57 Question Id : 6863407437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct option to replace the underlined word(s) in the sentence below:
Although I enjoyed the holiday. I was glad to be there with you.
1. Though
2. Evenif
3. Much as
4. Despite
Options :
68634029425. 1
68634029426. 2

68634029427. 3
68634029428. 4

Question Number : 57 Question Id : 6863407437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct option to replace the underlined word(s) in the sentence below:
Although I enjoyed the holiday. I was glad to be there with you.
1. Though
2. Evenif
3. Much as
4. Despite
Options :
68634029425. 1
68634029426. 2

68634029427. 3
68634029428. 4

Question Number : 58 Question Id : 6863407438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct proposition from the options below to fill in the blank.
I opened the nut a screwdriver.

1. with

2

. by
3. from

4. to

Options :

68634029429. 1
68634029430. 2
68634029431. 3
68634029432. 4

Question Number : 58 Question Id : 6863407438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct proposition from the options below to fill in the blank.
I opened the nut a screwdriver.
1. with
2. by
3. from
4. to
Options :
68634029429. 1
68634029430. 2

68634029431. 3
68634029432. 4

Question Number : 59 Question Id : 6863407439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sentence from the options given below:
1. Buying a new house has eaten my all savings up.
2. A new house buying has eaten up my all savings.
3. Buying a new house has eaten up my all savings.
4. Buying a new house has eaten all my savings up,
Options :
68634029433. 1
68634029434, 2

68634029435. 3
68634029436. 4

Question Number : 59 Question Id : 6863407439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct sentence from the options given below:

1. Buying a new house has eaten my all savings up.

[ 5]

. A new house buying has eaten up my all savings.
3. Buying a new house has eaten up my all savings.
4. Buying a new house has eaten all my savings up,

Options :

68634029433. 1
68634029434. 2
68634029435. 3
68634029436. 4

Question Number : 60 Question Id : 6863407440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Select the correct indirect narration for the sentence below:

She said. "I am not feeling well today."

1. She asked that she was not feeling well that day.

b2

. She told that she was not feeling well that day.
3. She said that she was not feeling well that say.
4. She informed that she has not been fecling well that day.

Options :



68634029437. 1
68634029438. 2
68634029439. 3
68634029440. 4

Question Number : 60 Question Id : 6863407440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Select the correct indirect narration for the sentence below:

She said, "I am not feeling well today."

1. She asked that she was not feeling well that day:

| )

. She told that she was not fecling well that day.
3. She said that she was not feeling well that say.
4. She informed that she has not been feeling well that day.

Options :

68634029437. 1
68634029438. 2
68634029439. 3
68634029440. 4

Question Number : 61 Question Id : 6863407441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option to fill in the blank.
You  leave this premises without my permission.
1. have not to
2. Are not to
3. Won't to
4. Have to
Options :
68634029441. 1
68634029442. 2

68634029443. 3
68634029444. 4

Question Number : 61 Question Id : 6863407441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct option to fill in the blank.
You leave this premises without my permission.

1. have not to

| )

. Are not to
3, Won't to

4. Have to
Options :
68634029441. 1
68634029442. 2

68634029443. 3
68634029444. 4

Question Number : 62 Question Id : 6863407442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Smart work 1s better than hard work.
Reason R: Hard work must be smarter work also.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

| )

. Both A and R are correct and R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A iz not correct but B is correct

Options :

68634029445. 1
68634029446. 2
68634029447. 3
68634029448. 4

Question Number : 62 Question Id : 6863407442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Smart work is better than hard work.

Reason R: Hard work must be smarter work also.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

| )

. Both A and R are correct and R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A iz not correct but B is correct
Options :
68634029445. 1
68634029446. 2

68634029447. 3
68634029448. 4

Question Number : 63 Question Id : 6863407443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other 1s labelled as Reason B
Assertion A: Rest is best before test.
Reason R: Rest before an exam is necessary for better performance.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

| )

. Both A and R are correct and R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A iz not correct but B is correct

Options :

68634029449. 1
68634029450. 2
68634029451. 3
68634029452. 4

Question Number : 63 Question Id : 6863407443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Rest is best before test.
Reason R: Rest before an exam is necessary for better performance.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

| )

. Both A and R are correct and R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A iz not correct but B is correct
Options :
68634029449. 1
68634029450. 2

68634029451. 3
68634029452. 4

Question Number : 64 Question Id : 6863407444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Limiter adjectives particularise the reference of the noun.
Reason R: Limiter adjectives always tone down the meaning.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

| )

. Both A and R are correct and R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A iz not correct but B is correct

Options :

68634029453. 1
68634029454. 2
68634029455. 3
68634029456. 4

Question Number : 64 Question Id : 6863407444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Limiter adjectives particularise the reference of the noun.

Reason R: Limiter adjectives always tone down the meaning.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

| )

. Both A and R are correct and R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A iz not correct but B is correct

Options :

68634029453. 1
68634029454. 2
68634029455. 3
68634029456. 4

Question Number : 65 Question Id : 6863407445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Who offered me the opportunity to join his company.
B. Just after I left University

C. I organised an advertising campaign for him

D. I met an old friend

E. Selling a new type of mobile phone

Choose the correct answer from the options given below:

1.C.D.B.D. A

[ )

L BUE AL
3 ByA A
4.B.D.AE.C

Options :

68634029457. 1
68634029458. 2
68634029459. 3
68634029460. 4

Question Number : 65 Question Id : 6863407445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Who offered me the opportunity to join his company.
B. Just after I left University

C. I organised an advertising campaign for him

D. I met an old friend

E. Selling a new type of mobile phone

Choose the correct answer from the options given below:

1.C.D.B.D. A

| )

G B DL ALE
3 Bya G
4.B.D.AE.C

Options :

68634029457. 1
68634029458. 2
68634029459. 3
68634029460. 4

Question Number : 66 Question Id : 6863407446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. The villagers wanted what conditions were
B. And advised to take
C. To save themselves from starvation

D. Like at higher altitudes
E. Enough food for a week

Choose the correct answer from the options given below:

LA CDCE

| )

A DBIRC
3.D.C.E.A.B
4.D.B.A.C.E

Options :

68634029461. 1
68634029462. 2
68634029463. 3
68634029464. 4

Question Number : 66 Question Id : 6863407446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. The villagers wanted what conditions were
B. And advised to take
C. To save themselves from starvation

D. Like at higher altitudes
E. Enough food fora week

Choose the correct answer from the options given below:
LLACD CE
il B R A
L0 B B B O B
4.D.B.A.C.E

Options :

68634029461. 1
68634029462. 2
68634029463. 3
68634029464. 4

Question Number : 67 Question Id : 6863407447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: All adverbs in English can be used as adjectives also.
Statement IT: The same word when used as adverb and adjective bears the same meaning.
In the light of the above statement. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect

3. Statement [ is correct but Statement I is incorrect

4, Statement I is incorrect but Statement II is correct

Options :

68634029465. 1
68634029466. 2
68634029467. 3
68634029468. 4

Question Number : 67 Question Id : 6863407447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: All adverbs m English can be used as adjectives also.

Statement IT: The same word when used as adverb and adjective bears the same meaning.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

[ ]

. Both Statement I and Statement IT are incorrect
3. Statement I is correet but Statement 11 is incorrect
4, Statement I is incorrect but Statement II is correct
Options :
68634029465. 1
68634029466. 2

68634029467. 3
68634029468. 4

Question Number : 68 Question Id : 6863407448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: A sentence having question mark (?) at the end 1s an interrogative sentence.

Statement IT: A sentence can't be a question without having a question mark (7) at the end.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false

4, Statement I is false but Statement IT is true

Options :

68634029469. 1
68634029470. 2
68634029471. 3
68634029472. 4

Question Number : 68 Question Id : 6863407448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: A sentence having question mark (?) at the end 1s an interrogative sentence.

Statement IT: A sentence can't be a question without having a question mark (7) at the end.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false
4, Statement I is false but Statement IT is true

Options :

68634029469. 1

68634029470. 2

68634029471. 3
68634029472. 4

Question Number : 69 Question Id : 6863407449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: All articles are determiners as these determine the position of a noun.

Statement II: All determiners are "articles'

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false

4, Statement I is false but Statement IT is true

Options :

68634029473. 1
68634029474. 2
68634029475. 3
68634029476. 4

Question Number : 69 Question Id : 6863407449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: All articles are determiners as these determine the position of a noun.

Statement II: All determiners are ‘articles'

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false

4, Statement I is false but Statement IT is true

Options :

68634029473. 1
68634029474. 2
68634029475. 3
68634029476. 4

Question Number : 70 Question Id : 6863407450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The best thing would be to give up - Non-finite clause

With the tree now tall, we get more shade - finite clavse

We ran fast go that we could save us - complex clanse

If vou work hard, vou will pass - Subordinate clause

Shall we take a car or go by bus - Complex sentence

Choose the correct answer from the options given below:
1. Aand C only
2.Band D only
3.Dand E only

4.D only

Options :

68634029477. 1
68634029478. 2
68634029479. 3
68634029480. 4

Question Number : 70 Question Id : 6863407450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
The best thing would be to give up - Non-finite clause

With the tree now tall, we get more shade - finite clavse

We ran fast go that we could save us - complex clanse
If vou work hard, vou will pass - Subordinate clause

Shall we take a car or go by bus - Complex sentence

Choose the correct answer from the options given below:
1. Aand C only
2.Band D only
3.Dand E only

4.D only

Options :

68634029477. 1
68634029478. 2
68634029479. 3
68634029480. 4

Question Number : 71 Question Id : 6863407451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, Connote - To suggest

B. Godawtul - Extremely bad

C. Arduous - With a little energy
D. Pagoda - A tall building

E. Sassy - Polite

Choose the most appropriate answer from the options given below:
1. B and C only
2. E only
3. Aand B only

4. D and E only

Options :

68634029481. 1
68634029482. 2
68634029483. 3
68634029484. 4



Question Number : 71 Question Id : 6863407451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, Connote - To suggest

B. Godawtul - Extremely bad

C. Arduous - With a little energy
D. Pagoda - A tall building

E. Sassy - Polite

Choose the most appropriate answer from the options given below:

1. B and C only

| )

. E only
3. Aand B only

4. D and E only

Options :

68634029481. 1
68634029482. 2
68634029483. 3
68634029484. 4

Question Number : 72 Question Id : 6863407452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. The road may be blocked - Possibility

B. He shall get his money - Possibility

C. The game will be finished by now - Possibility
D. He can speak Sanskrit but can't write - Possibility
E. Anyone can make mistakes - Possibility

Choose the most appropriate answer from the options given below:
1. A and C only
2. C and D only
3.B and E only

4. Aand E only

Options :

68634029485. 1
68634029486. 2
68634029487. 3
68634029488. 4

Question Number : 72 Question Id : 6863407452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A. The road may be blocked - Possibility

B. He shall get his money - Possibility

C. The game will be finished by now - Possibility
D. He can speak Sanskrit but can't write - Possibility
E. Anyone can make mistakes - Possibility

Choose the most appropriate answer from the options given below:
1. A and C only
2. C and D only
3.B and E only

4. Aand E only

Options :

68634029485. 1
68634029486. 2
68634029487. 3
68634029488. 4

Question Number : 73 Question Id : 6863407453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I LISTI1
A |Break awav I. |To come to an end
B. |[Break down II. |To escape suddenly
C. [Break up II1 |To stop working suddenly
D. |Break out IV, |To start suddenly

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-IL. D-I

| B

. A-IL. B-I. C-IV. D-III
3. A-IL, B-1II. C-1, D-IV
4. A-IIL. B-11. C-IV. D-1

Options :

68634029489. 1
68634029490. 2
68634029491. 3
68634029492. 4

Question Number : 73 Question Id : 6863407453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I LISTI1
A |Break awav I. |To come to an end
B. |[Break down II. |To escape suddenly
C. [Break up II1 |To stop working suddenly
D. |Break out IV, |To start suddenly

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-IL. D-I

| B

. A-IL. B-I. C-IV. D-III
3. A-IL, B-1II. C-1, D-IV
4. A-IIL B-I1. C-IV. D-I

Options :

68634029489. 1
68634029490. 2
68634029491. 3
68634029492 4

Question Number : 74 Question Id : 6863407454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Kev 1. |Flippant
B. [Facetious II. |Soothe
C. |Fabled [T, [Vital
D. [Lull IV [Legendary

Choose the correct answer from the options given below:

1. A-III. B-I. C-IV. D-II

| B

AT B-ILL C-IV. D-1
3. A-IV. B-III. C-1. D-II
4. A-IV, B-1. C-II, D-III

Options :

68634029493. 1
68634029494 2
68634029495. 3
68634029496. 4



Question Number : 74 Question Id : 6863407454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A Kev 1. |Flippant
B. |[Facetious II. |Soothe
C. |Fabled [T [Vital
D. [Lull IV, [Legendary

Choose the correct answer from the options given below:

1. A-III. B-1. C-IV. D-II

| B

AL B-ILL C-IV. D-1
3. A-IV. B-I11. C-1. D-II
4. A-IV, B-1. C-II, D-III

Options :

68634029493 1
68634029494. 2
68634029495. 3
68634029496. 4

Question Number : 75 Question Id : 6863407455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
A |Lunacy I |Sane
B. |Active II. |[Thankless
C. |Gratitude [II. [Deaden
D. [Opacity IV [Transparency

Choose the correct answer from the options given below:

1. A-II, B-1. C-1II, D-IV

{ B

A-TIL B-III. C-I. D-IV
3. A-L B-IIIL, C-L D-IV
4. A-l. B-II. C-II1. D-IV

Options :

68634029497. 1

68634029498. 2
68634029499. 3



68634029500. 4

Question Number : 75 Question Id : 6863407455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
A |Lunacy I |Sane
B. |Active II. |[Thankless
C. |Gratitude [II. [Deaden
D. [Opacity IV [Transparency

Choose the correct answer from the options given below:

1. A-II, B-1. C-1II, D-IV

{ B

A-TIL B-III. C-I. D-IV
3. A-L. B-III. C-L. D-IV
4. A-l. B-II. C-II1. D-IV

Options :

68634029497. 1
68634029498. 2
68634029499. 3
68634029500. 4

Sub-Section Number : 3
Sub-Section Id : 686340232
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 76 Question Id : 6863407456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PRI B T UTd?
1. B9gd
2, RIS
3. PIIETH
4. AR
Options :
68634029501. 1
68634029502. 2

68634029503. 3
68634029504. 4



Question Number : 76 Question Id : 6863407456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRS BRI Ud?
1. BYgd
2. TSIt
3. DI

4. 3ga9

Options :

68634029501. 1
68634029502. 2
68634029503. 3
68634029504. 4

Question Number : 77 Question Id : 6863407457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@< T & B2

1.8

Laa
h

4.5

Options :

68634029505. 1
686340295006. 2
68634029507. 3
68634029508. 4

Question Number : 77 Question Id : 6863407457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@< T & B2

1.8

[ ]
o |

Laa
h

4.5
Options :
68634029505. 1
68634029500. 2

68634029507. 3
68634029508. 4

Question Number : 78 Question Id : 6863407458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R B o R 3fe @) i o

1. IR
2. X
3,89
4. 30

Options :

68634029509. 1

68634029510. 2

68634029511. 3
68634029512. 4

Question Number : 78 Question Id : 6863407458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=R: ¥t o gfar gfa ared g fem
1. 9R:
2. X0
3,99
4. 730

Options :



68634029509. 1
68634029510. 2
68634029511. 3
68634029512. 4

Question Number : 79 Question Id : 6863407459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UM 3fd U & FHRE?

1. fgdiaracges:

Options :

68634029513. 1
68634029514. 2
68634029515. 3
68634029516. 4

Question Number : 79 Question Id : 6863407459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RO 3fd U & FHRE?

1. fadioaagz:

Options :

68634029513. 1
68634029514. 2
68634029515. 3
68634029516. 4

Question Number : 80 Question Id : 6863407460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



£Y] YT AgaPR JUqeNSad [ &

1. STYR:

[ ]

HOwgd
3, g9y
4, ORI

Options :

68634029517. 1
68634029518. 2
68634029519. 3
68634029520. 4

Question Number : 80 Question Id : 6863407460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR U S aeR AHAYSNGaH fdr E0H?

1. HAYRL:

[ ]

CHORIA
3, ORIy
4, UL
Options :
68634029517. 1
68634029518. 2

68634029519. 3
68634029520. 4

Question Number : 81 Question Id : 6863407461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
’ " Hieds e | AR I fah e IRad |
1. TR
e
3. farEm:

4, T

| ]



Options :

68634029521. 1
68634029522. 2
68634029523. 3
68634029524. 4

Question Number : 81 Question Id : 6863407461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
' " Aigd I | RO FgfEaiam el IRad |
1. R
2. =
3. TRre:
4. R

Options :

68634029521. 1
68634029522. 2
68634029523. 3
68634029524. 4

Question Number : 82 Question Id : 6863407462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gal Sl 74 T3 Sid a1 Bid Sreugugii-e

1.01

[ ]

S02
3,03
4. 04

Options :

68634029525. 1
68634029526. 2
68634029527. 3
68634029528. 4

Question Number : 82 Question Id : 6863407462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gal &gl T4 T3 gid a1 Bid Sreugugiie

1.01

[ ]

JD2
3.03
4. 04
Options :
68634029525 1
68634029526. 2

68634029527. 3
68634029528. 4

Question Number : 83 Question Id : 6863407463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST Sfd Tl faved =um?
1. fecranfase
2. TerHifayeR
3. Ui er
IRERUTIEEIES])
Options :
68634029529. 1
68634029530. 2

68634029531. 3
68634029532. 4

Question Number : 83 Question Id : 6863407463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHTEAT 3fd T fquadl o
1. fctarfas e
2. gHifayE
3. UEiqYE
IRERUTIEEIES])

Options :



68634029529. 1
68634029530. 2
68634029531. 3
68634029532. 4

Question Number : 84 Question Id : 6863407464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T ek fadial-ggas fd w=ump

1. 7Td:

4

3. 711

4111

Options :

68634029533. 1
68634029534. 2
68634029535. 3
68634029536. 4

Question Number : 84 Question Id : 6863407464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

T ek fadial-ggas fd w=ump

1. 7Td:

4

3. 711

4111

Options :

68634029533. 1
68634029534. 2
68634029535. 3
68634029536. 4

Question Number : 85 Question Id : 6863407465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"G -+ AU S W [ =
1. SIAPISTH

2. 9[dPIUH

~

3. TP ST
4. TP

Options :

68634029537. 1
68634029538. 2
68634029539. 3
68634029540. 4

Question Number : 85 Question Id : 6863407465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"STeT+ S SR AT =
1. STABISTH

2. didPIUH

LY

3. S0P Sy
4. TTAHRAY

Options :

68634029537. 1
68634029538. 2
68634029539. 3
68634029540. 4

Question Number : 86 Question Id : 6863407466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST Sid T FAfd=se $od -

1. %+ Y

|

3. P+ T
T + A

i



Options :

68634029541. 1
68634029542. 2
68634029543. 3
68634029544. 4

Question Number : 86 Question Id : 6863407466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST 3id Tew Tifa=d % -

1. %+ Y

| B

3. P+ T
T + A

i

Options :

68634029541. 1
68634029542. 2
68634029543. 3
68634029544. 4

Question Number : 87 Question Id : 6863407467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: DYTEIH &1 UhH HUTH (A), gl J 8% $RUH (R).
U Y A: GG T foaiar-fga= am gid ¥d wafd|
HRUM R: '3 Teaw 9 ThaeH A gid &4 vafd|
SUYTR UG STl 31¢: Faidbed v FHEHR & -

(A) (R) THT HIEL: (R). (A) SR G| SARAT AT |

—

| ]

(A). (R) THT HIE: (R). (A) S0 TR e -1 |

LN}

(A) 91Y, U= (R) 1Y I

4, (A) 3FEIY, TR (R) WY

Options :

68634029545. 1
68634029546. 2
68634029547. 3
68634029548. 4



Question Number : 87 Question Id : 6863407467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: DYTEIH &1 UhH HUTH (A), gl J 8% $RUH (R).
U Y A: GG T foaiar-fga= am gid ¥d wafd|
HRUM R: '3 Teaw 9 ThaeH A gid &4 vafd|
SR YT HTIh 3Y: Vediamedsd: T & -

(A) (R) THT HIEL: (R). (A) SR G| SARAT AT |

—

| ]

(A). (R) THT HIE: (R). (A) S0 TR e -1 |
3. (A) 91Y, R+ (R) ¢ 71|
4. (A) 3EIY, T (R) T1Y|

Options :

68634029545. 1

68634029546. 2

68634029547. 3
68634029548. 4

Question Number : 88 Question Id : 6863407468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3e: HYFEIH &I | U i@y (A), i 0% SR (R).
STUSHYAY A: "SI0 gid U= Fareu yald|
PR R: "SI0 3id YAV PR U HRT Hafd |

SR IS YA el 3¢ FEaidhed ¥: JHH I o d -

1. (A). (R) SHT T (R). (A) SO =] ST |

| ]

(A). (R) 3HT HI¢: (R). (A) T8 TR e 1T |
3. (A) T1Y, W] (R) ¢ AT

4, (A) 3FEIY, TR (R) WY

Options :

68634029549. 1
68634029550. 2
68634029551. 3
68634029552. 4



Question Number : 88 Question Id : 6863407468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: DYTEIH &1 UhH HUTH (A), gl J 8% $RUH (R).
SfUSY A: "I i UL 3SR Yald |
DR R: "HH:" T FAU PR T HRI 4|
SR YT HTIh 3Y: Vediamedsd: T & -

1. (A). (R) ST TTY: (R). (A) ST =] ST |

| ]

(A). (R) THT HIE: (R). (A) S0 TR e -1 |
3. (A) 91Y, R+ (R) ¢ 71|

4, (A) 3FEIY, TR (R) WY

Options :

68634029549. 1
68634029550. 2
68634029551. 3
68634029552. 4

Question Number : 89 Question Id : 6863407469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3e: DY 3G U ey (A), fedid J a8 SR (R).

fUSYAT A: FYTeaw fgcdiaragae qe Hafd|
PIRUTH R: Ufdee fediar-fga= udh vyafd

SR IS YA el 3¢ FEaidhed ¥: JHH I o d -

1. (A). (R) SHT T (R). (A) SO =] ST |

| ]

(A). (R) 3HT HI¢: (R). (A) T8 TR e 1T |
3. (A) T1Y, W] (R) ¢ AT

4, (A) 3FEIY, TR (R) WY

Options :

68634029553. 1
68634029554. 2
68634029555. 3
68634029556. 4



Question Number : 89 Question Id : 6863407469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: DYTEIH &1 UhH HUTH (A), gl J 8% $RUH (R).
HfUSYAY A: Ty fgcigragaa ae yald|
PR R: Ufdeewd fgdiar-fgas qdt vyafd)
SR YT HTIh 3Y: Vediamedsd: T & -

1. (A). (R) ST TTY: (R). (A) ST =] ST |

| ]

(A). (R) THT HIE: (R). (A) S0 TR e -1 |

(A) 91Y, U= (R) 1Y I

LN}

4, (A) 3FEIY, TR (R) WY

Options :

68634029553. 1
68634029554. 2
68634029555. 3
68634029556. 4

Question Number : 90 Question Id : 6863407470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

SUHITIHRY 30 I -

A, Frigey
B. P
C. SUPWH
D. HeR

E. UUa:
e Fewiap el JHEHHHR fod -
1. HAAH A, B.C
2. BIUI A, C. D
3. ®duH B.D.E
4. %duH C,D.E

Options :
68634029557. 1



68634029558. 2
68634029559. 3
68634029560. 4

Question Number : 90 Question Id : 6863407470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AU HTaTHTS 3ar830n- 9 -

A. frdfgey
B. P
C. SHPWH
D. "8l

E. U9
HY: FexIdP e FHEHR f=d -
1. HAAH A, B.C
2. I A, C. D
3. %daB.D.E
4. ®daH C, D.E

Options :

68634029557. 1
68634029558. 2
68634029559. 3
68634029560. 4

Question Number : 91 Question Id : 6863407471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y[ a1y 9 -
A, TqT fdenag: Td
B. HO1 R Tad
. STeIu Higd Id9d
D. faur 71 garid
E. dfdi fiyard agem

3HY: UgHIigh el : AR =Hd -
1. $acH B, D, E
2. BadI C. D, E
3. BGAHA. C.E
4. PAUH A, B.C

Options :

68634029561. 1
68634029562. 2
68634029563. 3
68634029564. 4

Question Number : 91 Question Id : 6863407471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A, T fepmag: md
B. Ha1 8RR Tad
C. ST Higep I
D. faur 7 garfa
E. afd fherd agumm

3HY: eeIigmed : =T = -

1. $aHB.D.E
2. BIAH C. D, E
3. BAUH A, C.E

4. PAUH A B, C

Options :

68634029561. 1
68634029562. 2
68634029563. 3



68634029564. 4

Question Number : 92 Question Id : 6863407472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FSAUY YR -

AY
B. ¥
C. ¥
D. 4
E.®

HY: UEHiah el : FHREFTR = -
1. PACHA. C.D
2. $adg B, C,. D
3. BAAH A. D.E
4. %A B, C.E

Options :

68634029565. 1
68634029566. 2
68634029567. 3
68634029568. 4

Question Number : 92 Question Id : 6863407472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty gRAT -

AY
B. ¥
c. 9
D4
E®

He: Yexdiaehed d: U & d -
1. PAUAHA.C.D
2. ®ad¥ B, C. D
3. BAAH A, D.E
4. %A B, C.E

Options :

68634029565. 1
68634029566. 2
68634029567. 3
68634029568. 4

Question Number : 93 Question Id : 6863407473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HaiggHITEd RER Fd 0 $3d-

T 1 T I
. e CEEE
& Sl 1L [BATEae:
AT ¥R 1. [T TZHt
_ [eTcien: Jagw &I IV [3eRls

ol fool o] J2

3{Y: YedidPed sy YHaE (&d -
1. A-IIL B-IV. C-1. D-II
2. A-III. B-I. C-IL D-IV
3. A-IV. B-III. C-I. D-II
4. A-I, B-IV, C-IIL D-II
Options :
68634029569. 1
68634029570. 2

68634029571. 3
68634029572. 4



Question Number : 93 Question Id : 6863407473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HaiggHI4 RER d 0 $3d-

A1 O
e L[99 uEt

BRI 1L [EATEae:
g TR I |3rer Tee]
. [aTcie: Fan d1on| IV, [3MERIS

31¢: Tedfadedd: FfaaT fod -

1. A-IIL. B-T'V. C-1. D-II

ol Bl o=l b

| B

CA-IL. B-LL C-T1L. D-IV
3. A-TV. B-III. C-1. D-II
4. A-I. B-IV, C-III. D-IT

Options :

68634029569. 1

68634029570. 2

68634029571. 3
68634029572. 4

Question Number : 94 Question Id : 6863407474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: HYTEIH S -
HYTH I i ST S : Fareru i
SYAH I1: TP+ 3icl e FR: T & |
STATHYUTEIR TEIh 3 exdhed i Iafaam e -

1. YA I DY 11 9 5id 39T F1Y|

| ]

 PYTH 1, HYTH 11 F 5id SHTHATY|

LN}

YTH 1Y, UR=q HYUAH 1T S|

i=s

YT [ ST, TR YA 11 91|

Options :
68634029573. 1
68634029574. 2



68634029575. 3
68634029576. 4

Question Number : 94 Question Id : 6863407474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Y THYUTEIH ST -
FYTH 1: T ST 3 T FaTeRor S|
HYAH I1: 'TTa5- 310 g T Farewo A& |
ST YTEIR AT ek Yadiap e d: Igfeag Frd -

1. YT I, YTH 11 9 Sid 1T 1Y)

| ]

Y I, BY 11 9 i SUTIEY |

L

TYTH [ 1Y, TR=q HYH I S|

o

YT 1 SFIE, TR HUAH 11 T1Y

Options :

68634029573. 1
68634029574. 2
68634029575. 3
68634029576. 4

Question Number : 95 Question Id : 6863407475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31Y: THYAZIH 31T -

HYAY I: VFUA: TP RY TATIRYG G- U gid =9 Hafd|

SYFY I1: 'TY YTl TCapRY TOIYBYagad- ayeE 3id =0 yafd|
SRS YTEI A 3¢ i ed d: TfEaaa (o9 -

1. SYTH 1, SYTH 11 7 Sfd IHg 1y

| ]

 PYFH 1 HYFH 11 F 3id SUTHATY |

LN}

 YTH 1 91, URq SYUAH 1T S|

4, YT 1 ST, TR BYUTH 11 1|

Options :



68634029577. 1
68634029578. 2
68634029579. 3
68634029580. 4

Question Number : 95 Question Id : 6863407475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31Y: THYAZIH 31T -

HYAY I: VFUA: TP RY TATIRYG G- U gid =9 Hafd|

SYFY I1: 'TY YTl TCapRY TOIYBYagad- ayeE 3id =0 yafd|
SRS YTEI A 3¢ i ed d: TfEaaa (o9 -

1. SYTH 1, SYTH 11 7 Sfd IHg 1y

| ]

 PYFH 1 HYFH 11 F 3id SUTHATY |

LN}

 YTH 1 91, URq SYUAH 1T S|

4, YT 1 ST, TR BYUTH 11 1|

Options :

68634029577. 1
68634029578. 2
68634029579. 3
68634029580. 4

Question Number : 96 Question Id : 6863407476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y THYUTEIH ST -

Y I: 8 T JalgnigHiad: yafd|

FYH 11: 9 gt fgdraniaufe: vafa

S FAH UG ATAB 3¢ Fenidbed T Jgfiaaw fd -

1. YT I, YTH 11 9 Sid 1T 1Y)

| ]

Y I, BY 11 9 i SUTIEY |

L

TYTH [ 1Y, TR=q HYH I S|

o

YT T 1Y, U HUAH 11 1Y
Options :

68634029581. 1

68634029582. 2

68634029583. 3
68634029584. 4

Question Number : 96 Question Id : 6863407476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: HYTEIH S -
SYH I: g AT Jaigiiauida: vafd |
SY=Y 11: T gl fgcrariayfa: vafd
SR YT HTIh 3: Vediamedsd: Ty o -

1. YA I DY 11 9 5id 39T F1Y|

| ]

 PYTH 1, HYTH 11 F 5id SHTHATY|

LN}

YTH 1Y, UR=q HYUAH 1T S|

i=s

YT [ ST, TR YA 11 91|

Options :

68634029581. 1
68634029582. 2
68634029583. 3
68634029584. 4

Question Number : 97 Question Id : 6863407477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gigaaigE R He $%d -

gl 1 T
. [edEe: 1 [EEEE:
EGIGa] 1. [FHYRT:

Hiaican |1 [eesifeur:
RH: V. [agen:

olo|=|e

HY: YedidP el FHRTE Hd -
1. A-IV, B-IL, C-1. D-III
2. A-IIL. B-1V, C-IL, D-I
3. A-IIL, B-I, C-IL, D-IV
4. A-IL B-I1, C-1V. D-I
Options :
68634029585. 1
68634029586. 2

68634029587. 3
68634029588. 4

Question Number : 97 Question Id : 6863407477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gigomigE e 0o $%d -

el 1 T
A, [FUSHIT: i ERGLIRE
B. [Fcii®! 1L [FHYRY:
C. Mieilded 111 [sgsiilesay:
D. [RT4: V. [qagen:

3HY: Yedidd el FHRTE Hd -
1. A-IV, B-IL, C-1, D-III
2. A-IIL, B-1V, C-IL, D-I
3. A-IIL B-I, C-IL. D-IV
4. A-IL B-III, C-IV. D-I
Options :
68634029585. 1
68634029586. 2

68634029587. 3
68634029588. 4



Question Number : 98 Question Id : 6863407478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Uh ==l hH &d -

A TEH
B.dIH
C. =l
D. AT
E. 7T

HY: Hexiiqepedsd: FHfEAHT fod -

11GE A B

| ]

C,B.D.A.FE
3.8, CEB DA
4.B.E.D.A.C

Options :

68634029589. 1
68634029590. 2
68634029591. 3
68634029592. 4

Question Number : 98 Question Id : 6863407478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Uh ==l hH &d -

A TEH
B.dIH
C. =l
D. AT
E. 7T

Y el e FHfag o -
1.D.E.A.C.B
2.C,B.D,A,E
3.B.C.E.D.A
4.B.E.D,A.C

Options :



68634029589. 1
68634029590. 2
68634029591. 3
68634029592. 4

Question Number : 99 Question Id : 6863407479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eq Ut fafdfersaie R Uex=amun &4 fod -
A. JT:
B. U=4q
C. U=gd™
D. G4
E. U=4:

34 Ui edsg: FHRITHR = d -

1.B.D.A.C.E
2B.CAED
3.C,D.AB.E
4. E.D.B.A.C

Options :

68634029593. 1
68634029594 2
68634029595. 3
68634029596. 4

Question Number : 99 Question Id : 6863407479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



eg[ UTdl fafdfersae i Uexearun o f=d -
A. J=UY:
B. U
C. yRgdH
D. Udq
E. U=U:

34 Yedigd el g: FHRTHR = d -

1.B.DACE
2B.CAED
3.C.D.AB.E
4.E,D.B.A,C

Options :

68634029593. 1
68634029594. 2
68634029595. 3
68634029596. 4

Question Number : 100 Question Id : 6863407480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T YeaH el HaT=u1un %1 f=d -

A TaH
B. Td&
C. T
D. Ua9™
E. U]

HY: Yexigeeds: THFRAHR = -

1.C.A.E.D.B
2.A.C.D,E,B
3.B.D.E.C.A
4.C.D.B.E.A

Options :

68634029597 1

68634029598. 2

68634029599. 3
68634029600. 4



Question Number : 100 Question Id : 6863407480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

A TdH
B. TaiETH
C. T
D. Ua9™
E. Ud®1q

3¢ Yexideed1y: JofayoR f=rd -

1.L.CAEDB
2.ACDEB
3.8, DGR A
4.C.D.B.E.A
Options :
68634029597. 1
68634029598. 2

68634029599. 3
68634029600. 4



